‘_ Numbers |

Complete the crossword by filling in the missing numbers. (See example) .
_ﬂ Across —
2 _ 3 4 2 He wasborn F 1912 and died in 1975. Hewas ........c.ccoeccmcivccicnicnnen.. yEAIS
old when he died. (5,5)
F . 6 Thereare.............daysin a week. (5) .
..—- 8 Children in Britain start school at the ageof ................... (4)
5 10 Wehave................ fingers and two thumbs. (5)
I 11 Octoberisthe.................... month of the year. (5)
’ 13 Asquarehas................. sides. (4)
8 5 14 He won the first point in the tennis match, so the score was.................—0. 7
16 Thereare................. months in a year. (6)
0 20 .................is XIV in Roman numerals. (8)
1 12
. 13 Down |
- - 1 Christmas Day is on December the twenty-.................... (6)
3 Many people think this number is unlucky. (8)
4 Thereare.............players in a football téam. (6)
s = 5 Thereare three..................... and sixty-five days in a year. (7)
7 94 Tz (T)
9 100 x 100=...... ... (8)
12 Thereare.................. days in September. (6)
= 15 100 +5=....cccrerrven. (6)
17 InBritain and most other European countries, you can vote at the age of
19 : ——
= = - 18 Wearelivinginthe................century. (9}
P 19 Atrianglehas............sides. (5)
20
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